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ik XU T2 (R skok ook oskook ok v kk o skoskokok
FTHCHIR: PARX 2 ORRDEEDO® DORBOOBOB
HDCP R (%) :  36.0 HDCP LR (Z&): 36.0
4 : : R\
g fr | = H K 4 ouT @ IN GROSS| HDCP | NET
w O Py I 48 45 93 | 25.7| 67.3
HEM R © ANEE S 38 40 78 | 8.2 69.8
3 © IE  1Efn 44 - 42 86 | 15.2| 70.8
4T FeE —& 38 41 79 | 8.2] 70.8
5 © Il A1 34 75 | 3.5 71.5
6/\L LI R 46 = 36 82 | 10.5 71.5
i [© Kk 8 42 39 81 | 9.3 7.7
ZhA HH AT 48 1 47 95 | 23.3| 71.7
9hr GRES R 46 AT 93 | 21.0 72.0
10fir (@ AR T 42 36 78 | 5.8 72.2
L1437 FrIE] FRI 44 4T 91 | 18.7| 72.3
12437 BA M 19 AT 96 | 23.3] 72.7
1337 Vel &k 44 = 38 82 | 9.3/ 72.7
14f7 A B 47 48 95 | 22.2| 72.8
1507 KHE B 50 44 94 | 21.0| 73.0
1637 g BB 53 48 101 | 28.0| 73.0
170 SR 53 47 100 | 26.8| 73.2
1831 AR K 47 ¢ 46 93 | 19.8| 73.2
1947 Fr[ZnE Bz 45 47 92 | 18.7| 73.3
20fir [© [ A7 © 44 91 | 17.5| 73.5
214\ "A H 50 41 91 | 17.5 73.5
2201 HhHOE T 43 46 89 | 15.2| 73.8
23{\L. AH FHHk 45 44 89 | 15.2| 73.8
2417 R R 45 43 88 | 14.0| 74.0
2507 gL B A7 41 88 | 14.0| 74.0
26{\L. TREF IR =R 50 ¢ 44 94 | 19.8| 74.2
27\ W S RAR 45 42 87 | 12.8| 74.2
280\ Mm% 43 43 86 | 11.7 74.3
2907 PR EIE 49 44 93 | 18.7| 74.3
30z © TN ET 47 © 53 100 | 25.7| 74.3
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Btk ik XU 712 (R skok ook oskook ok v kk o skoskokok
FTHCHIRR: PARX 2 OREDEEDOO DORODEEOB
HDCP R (%) :  36.0 HDCP LR (Z&): 36.0

4 : : R\
g fr | = H K 4 ouT @ IN GROSS| HDCP | NET

3L e T 49 44 ﬁ 93 | 18.7 74.3

32431 BA FHA 48 44 92 | 17.5| 74.5

3301 R A% 40 = 37 77 | 2.3 4.7

34NT i = 49 = 55 104 | 29.2| 74.8

35{ir. KH 46 44 90 | 15.2| 74.8

36017 =M 44 46 90 | 15.2| 74.8

3743 AV NI IN) 47 43 90 | 15.2| 74.8

381 J\H  fliF 49 4T 96 | 21.0| 75.0

390 B Wz 42 47 89 | 14.0| 75.0

40077, R A2 47 49 96 | 21.0| 75.0

atfr © SR 48 40 88 | 12.8| 75.2

4217 BEE R 47 40 87 | 11.7] 75.3

43{31. AR 3wz 52 . 48 100 | 24.5| 75.5

4447 fesr 54 45 99 | 23.3 75.7

4507 R wE A7 59 106 | 30.3| 75.7

4617 R = 40 © 45 85 | 9.3| 75.7

ATHE GAVTh wy)  =ZaFA 37 1 41 78 | 2.3| 75.7

48{\L. A BT 51 & 46 97 | 21.0| 76.0

4907 HA THET 48 42 90 | 14.0| 76.0

500z © A s 43 46 89 | 12.8] 76.2

tia T ORE 45 . 44 89 | 12.8| 76.2

5247 ey BE AT 49 96 | 19.8| 76.2

537 e R 48 40 88 | 11.7 176.3

54{ir A BE 45 50 95 | 18.7| 76.3

55/L ZRE & 57 @ 52 | 109 | 32.7| 76.3

56/ R TET 47 48 95 | 18.7| 76.3

5THL AR E— 54 ﬁ 47 ﬁ 101 | 24.5| 76.5

58131 iR T = 50 51 101 | 24.5| 76.5

5N EN I 43 44 87 | 10.5 76.5

60hr © (G 59 . 48 107 | 30.3| 76.7
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Wi T XU T 2 B L d ok ok ok ok ok N kk o skoskokok
FTHCHIBE: PARX 2 CREOEEDEO DOROOBDHO®
HDCP ERR () :  36.0 HDCP PR (%&):  36.0
4 : : R\
g fr | = H K 4 ouT @ IN GROSS| HDCP | NET
611 R 52 48 100 | 23.3] 76.7
6211 HE M 47 45 92 | 15.2| 76.8
63117 fRsF  FEh 54 50 104 | 26.8| 77.2
64T =Y 45 = 51 96 | 18.7 77.3
6517 BE 46 43 89 | 11.7| 77.3
6617 H B R 41 47 88 | 10.5 77.5
671 frs 46 = 48 94 | 16.3] 77.7
68117 FHE DD 48 © 53 101 | 23.3] 77.7
69 ik —% 50 50 100 | 22.2| 77.8
704 © MiE BT 53 . 52 105 | 26.8] 78.2
711 A PR 56 49 105 | 26.8 78.2
72031 AR 50 45 95 | 16.3| 78.7
73057 | BHE 56 46 102 | 23.3| 78.7
TAfE KH B 46 41 87 | 8.2 78.8
75(L [ 48 46 94 | 15.2| 78.8
6L BHA A 49 = 45 94 | 15.2| 78.8
T KE = 51 @ 48 99 | 19.8] 79.2
T8(ir bk B 54 52 106 | 26.8| 79.2
79 R et 48 50 98 | 18.7| 79.3
sohr © BRI flAE] 52 1 45 | 97 | 17.5| 79.5
8117 e e 4T 49 96 | 16.3| 79.7
82{i7. w|a KA 58 @ 51 109 | 29.2| 79.8
83z BT R 52 49 101 | 21.0| 80.0
84 WA R 53 - 52 105 | 24.5| 80.5
85011 507 49 © 48 97 | 16.3| 80.7
8611 HH HiE 53 =~ 50 | 103 | 22.2| 80.8
8THL W 49 ﬁ 53 ﬁ 102 | 21.0| 81.0
88117 B 47 54 101 | 19.8] 81.2
891 Bt =y 54 52 106 | 24.5| 81.5
9ofir [© fEH A 52 47 99 | 17.5| 81.5
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ik XU T2 fZ Ld-v:  our ok ok skook ok N kk o skoskok ok
FTHOHIBR: PARX 2 D2EDEEDEOO DORBOBHBO®
HDCP R (%) :  36.0 HDCP LR (Z&): 36.0

4 : : R\
g fr | = H K 4 ouT @ IN GROSS| HDCP | NET

91/ JeR:  Fn 55 ﬁ 57 112 | 29.2| 82.8

92{i1 & R 56 57 113 | 29.2) 83.8

9317 EH 50 = 56 106 | 22.2| 83.8

94T PR AR 57 ﬁ 63 120 | 36.0| 84.0

95111 B 65 = 50 115 | 30.3| 84.7

A R o¥& | 550 50 | 105 | 19.8/ 85.2|
97THL ERESTE S 63 § 49 112 | 25.7| 86.3

98/\7 mH T 53 | 62 115 | 28.0| 87.0

99T I 70 ﬁ 62 132 | 36.0| 96.0

10007 © ERANEN=R: e 64 § 68 132 | 36.0| 96.0
o] EEE BT | 00 63| 133 | 36.0 97.0
10247 P Bl {5 67 67 134 | 36.0] 98.0

10307 B FX 67 69 136 | 36.0/100.0
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